30’ Loader Model

Instruction Sheets




30’ Loader Model Parts Sheet

1 - 10’ main section — - - -- >

DT
-

- 2- 96" wings o _

T, | T " _long |

2- 7’ longchain ~ _

2- 4’ longbrace ~ _

~

12 - muffler clamps "2 [o 4' long Kl
RS —

2 - loader brackets — — — — — > |¢

4 - yellow pins o

4 - large hair pins

2 - wheel brackets — -~ — _ 25 j
0O © 0 o

————————2

|
1 - wing lock with a 6” stub " |
1 - wing lock with a 4” stub ‘ : /

e % ol

! P .
1
10 - brace holders ! 2 (er & @ > d 9
P &

g

6 - wick tubes

48 — 2” square u-bolts
12 — 3” round u-bolts
120 — 3/8” flange nuts
8 — pins

8 — hair pins

6 —1" x 3 % bolts

4 - x 3" bolts

10 — 2" lock nuts

8 — 2" flat washers



Q pin

<_

This

mufer clamp
Mmust go n 6"
+rom end

30’ Loader Model

. Muffler Clamps go 4” in from the end of the main 10’ section.

They also go 4” in from the center point. (These measurements
are to the center of the muffler clamp.) Mount them on the
back side of the frame with the clamp facing down and
pointing ahead. They are mounted with a 2” u-bolt and 2 — 3/8”
flange nuts.

. Loader brackets are to be mounted onto the back side of this

10’ main section. You should measure your loader to see where
they should be mounted. They are mounted onto the weeder
with 4- 2” u-bolts and 8- 3/8” flange nuts. There is also 2 —
pins and hair pins on each bracket for mounting the weeder to
the loader.

. Wheel brackets are mounted to the back side of this 10’ main

section {8 in from the end to the center of the wheel bracket.
This wheel bracket is a stand holder. So when you take it off
the loader you can put the stands in the wheel bracket and it
will sit on the stands.

. A brace holder should be mounted in the exact center of the

frame on the front side of the weeder. This is for if you want to
put it on the 3-point hitch.



Wing Lock
(has a b" stub)

ﬁ
o/#5
9

#6.
Brace Holder

-

77,04 \NOR.

1~

P\‘r\ () \'-\Cur Rin

* @, Brace, Welder

-

Wing loek. hgs,
5 & " ston

. The wing lock goes right beside the wheel bracket only it is

placed on the front side of the 10” main section. It is mounted
with 2 —2” u-bolts and 4 — 3/8” flange nuts.

. There is a brace holder mounted onto the back side of the 10’

main section right up tight to the end. It is mounted with 2- 2”
u-bolts and 4- 3/8” flange nuts. You should also put a pin and a
hair pin into the brace holder.

. Next you should mount a hinge onto the left side of the 10

main section. Then you should mount onto that a 9°6” wing.
The hinge and the wing is bolted on with 2- %2 x 3 ¥ bolts and
2- %" lock nuts.

. This brace holder goes onto the top side of the 9°6” wing. You

will first need to get the 7° long piece of chain. Bolt the chain
onto the top part of the main and then you will know where to
place the brace holder. You should bolt the chain down with a
Y2 x 3 1/2“ bolt, ¥4” lock nut and 2- %" flat washers. The brace
holder will need 2- 2” u-bolts and 4- 3/8” flange nuts. Then
you can bolt the chain to the brace holder with a % x 3” bolt,
1/2 “lock nut and 2- %” flat washers.




Wi
has
#q, 9

n:.—su
Ho’
10.
¥ 12413, 1.
12.
1=~
13.
Iq.
e——a *

e |31

a 4" stub

. The muffler clamps go on the back side of the wing, with the clamp facing down

and pointing ahead. Starting from the right they measure at 117, 56”, 64 and
116”. These measurements go to the center of the muffler clamp. They are
mounted with a 2” u-bolt and 2- 3/8” flange nuts.

This wing lock goes on the front side of the wing. It is 17" in from the left side
end to the center of the wing lock. Mount it on with 2- 2" u-bolts and 4- 3/8”
flange nuts.

Right beside the wing lock only mounted on the back side of the wing you should
put a brace holder, (put it on the right hand side of the wing lock) Mount it to the
wing with 2- 2” u-bolts and 4- 3/8” flange nuts. You should also put a pin and a
hair pin into the brace holder.

Next put a brace holder on the left hand outer side of the main. It should go 5” in
from the back side end. Mount it with 2- 2” u-bolts and 4- 3/8” flange nuts. Also
put in a pin and a hair pin.

On the back side of the wing put a brace holder 49 % in from the right side end.
Mount it with 2- 2 u-bolts and 4- 3/8” flange nuts.

This is a brace made of 1 %" tubing that is 4’ long. It gets bolted on with a ¥ x 3”
bolt and a %2 lock nut on the # 13 end. Then you can pin it to the #12 end with a
pin and a hair pin.

Main H




R \5’ 15:
[ ]
b 16
#v.
17-
e,

" Right Wing

Next you should mount a hinge onto the right side of the 10° main section. Then
you should mount onto that a 9°6” wing. The hinge is bolted on with2 -2 x 3 72
bolts and 2- %2” lock nuts.

. This brace holder goes onto the top side of the 9°6” wing. You will first need to

get the chain that is 7’ long. Bolt the chain onto the top part of the main and then
you will know where to place the brace holder. You should bolt the chain down
with a ¥ X 3 % bolt, %" lock nut and 2- %" flat washers. The brace holder will
need 2- 2” u-bolts and 4- 3/8” flange nuts. Then you can bolt the chain to the
brace holder with a %2 x 3” bolt, %2 lock nut and 2- /%" flat washers.

The muffler clamps go on the back side of the wing, with the clamp facing down

and pointing ahead. Starting from the left they measure at 117, 56, 64” and 116”.

These measurements go to the center of the muffler clamp. They are mounted
with a 2” u-bolt and 2- 3/8” flange nuts.

/6

m"‘%,



1% =

* |8 +19 #70 “ .

%\8)“!,'104-2! :
i 18. This brace holder is mounted onto the back side of the wing approximately 20
L-LJ 1/2” in from the left side end. Mount it on with 2- 2” u-bolts and 4- 3/8” flange
=, nuts. You should also put a pin and a hair pin in the brace holder.

19. This is a brace holder also mounted onto the back side of the wing approximately
42 %" in from the left side end. Mount it on with 2- 2” u-bolts and 4- 3/8” flange
nuts. On this brace holder you should bolt a 4’ brace made of 1 %” tubing. Bolt on
witha %2 x 3” bolt and a 1/2  lock nut. The other end of this brace goes to the
brace holder on the back side of the 10° main section. Fasten it on with a pin and a
hair pin.

20. This is a brace holder also mounted onto the back side of the wing approximately
88 12" in from the left side end. Mount it on with 2- 2” u-bolts and 4 3/8” flange
nuts. You should also put a pin and a hair pin in the brace holder.

21. This is a brace holder mounted onto the front side of the wing approximately 10
/4" in from the right end side measured to the center. Mount it on with 2- 2” u-
bolts and 4- 3/8” flange nuts. You should also put a pin and a hair pin in the brace
holder.

Note:

All of these brace holders are for when you fold up your wick weeder. They are to
either hold a brace or to lock the wings into the main frame so the wick weeder stays
folded up.

When you mount the wick tubes onto the muffler clamps you will need the 3”
round u-bolts and 3/8” flange nuts. DO NOT fasten too tightly, they should just be snug.
The wicks face straight ahead with the fill cap at the top of the tube.



